ELECTRIC SAILPLANE

Fantasy

T, Manufactured by :

C e

= CZECH REPUBLIC

Order N°: 02053

| | 1557 mm Radio system you'll need :

5-channel
with
6 servos

K@\ 67 6dm’ :[‘ 1, Mega ACn 22/45/3(E)

4 44,4-49 g/dm’

“12 - 14 Nixx 1,7-3Ah
3 - 3,3 kg 4-5S Lixx

e-mail:info@topmodelcz.cz www_topmodelcz.cz




L

E3faEacs
2-4

ER
1-21 3-81 r3-82 3-4
3-8

3-6%3T5 =

Polozka| Nazev dilu Material/rozmér V}J'I(r;e Ba}:f:k Part # Part name |Material/dimensions | Loose |In bag
montazni navod 01 building instructions 01
1 trup laminat 01 1 fuselage fiberglass 01
1-1 mototrova sklotextit 3mm 01 1-1 motor mount fiberglass 3mm 01
prepazka 1-2 servo tray rudder plywood 4x48x58 01
1-2 drzdk serva SOP | preklizka 4x48x58 01 1-21 |servo tray elevator polyurethan 02
1-21 drzak serva VOP polyuretan 02 1-7 battery tray plywood 3x 46x225 01
1-7 drzak aku preklizka 3x 46x225 01 1-71 front former plywood 4 x 30x62 01
=71 prepazka preklizka 4 x 30x62 01 2 wing foam core-balsa 03
2 kFidlo polystyren-balsa 03 24 wing joiner fiberglass @8 x 155 02
24 spojka kFidla sklolaminat @8 x 155 02 2-1 aileron foam core-balsa 02
2-1 kridélko polystyren-balsa 02 2-11 flap foam core-balsa 02
2-11 klapka polystyren-balsa 02 2-21 centering pin piano wire @3x20 02
221 aretaéni kolik ocel @3x20 02 2-2 wing fixing screw screw M5x25 02
2-2 uchycenikfidla Sroub M5x25 02 2-25 wing pin dowel @6x65 01
2= upeviovaci kolik buk @6x65 01 2-3 captive nut M5 02
2=3 uchyceni kfidla narazeci matice M5 02 231 nut mount plywood 5x25x50 01
2-31 podloZka matice preklizka 5x25x50 01 2-4 servo wing mount polyurethan 08
2-4 drzak serva polyuretan 08 2-41 | wing servo cower ABS plastic @65 04
2-41 krytka serva ABS folie @65 04 2-5 |aileron-flap pushrod| piano wire @2x200 04
255 tahlo kridélka a ocel @2x200 04 2-6 clevis MPJ 2140, M2 04
klapky 2-8 aileron-flap horn fiberglass 1,5 04
2-6 koncovka tahla vidlicka kovova M2 04 3 horizontal fiberglass 01
2-8 paka kridélka sklotextit 1,5 04 stabilazer
3 VOP laminat 01 3-4 stabilazer fixing screw M3x18 01
3-4 uchyceni VOP Sroub M3x18 01 screw
3-5 tahlo vyskovky ocel M2x21 01 BE5 elevator link M2x21 01
3-6 koncovky tahla vidlicka kovova 01+01 3-6 clevis MPJ2140, M2+ball link 01+01
M2+kulova koncovka M2
M2 3-8 elevator horn nylon 01
3-8 paka VOP plast 01 3-81 axle piano wire @3x20 01
3-81 Cep paky ocel @3x20 01 3-82 axle piano wire @2x34 01
3-82 ¢ep nahonu ocel @2x34 01 4 fin fiberglass
4 smérovka laminat 4-5 rudder control link | piano wire @1,2x1000 01
4-5 tahlo smérovky ocel @1,2x1000 01 4-6 rudder clevis MPJ 2140, M2 + 01+01
4-6 koncovka tahla vidlicka kovova M2 + 01+01 threaded coupler
spojka tahla mosaz 4-8 horn rudder MPJ 2292 01
4-8 paka smérovky MPJ 2292 01 6 canopy fiberglass 01
6 kabina laminat 01 6-1 canopy fixing self tapping screw 01
6-1 uchyceni kabiny vrut @2,9x6,5 01 @2,9%6,5
7 obtisky 02 7 stickers 02

UPOZORNENI !

Tato stavebnice modelu neni hracka - neni vhodna
pro déti do 14-ti let.
Jeji nespravné pouziti mize zplsobit materialni

Skody nebo zranéni osob. Pfi uzivani modelu jste
plné zodpovédni za pfipadné Skody.

Létejte v bezpecné vzdalenosti od obydlenych
oblasti.

Pred zapnutim vysilace se ujistéte, ze nikdo jiny
nema zapnutou stejnou frekvenci !

ATTENTION!

This modelconstruction kit is not a toy and is not
suitable for childern under the age of 14.
Incorrect use of this model could cause material
damage or personal injury. You are fully
responsible for your actions when you use this

model.

Fly at a safe distance from occupied zones. Before

switching on the radio, be sure, that no one else is
using the same frequency as you !




1. Jestlize neni uvedeno jinak, vsechny
rozméry jsou uvedeny v milimetrech!

Na posledni strané tohoto navodu
naleznete vyobrazeni vhodného vybaveni a
nastrojli potfebnych k dokonceni modelu

All of the diameters are measured in mm, if not
specify otherwise!

All suitable equipments and tools for model
complete you can find in illustration on last page

of the building instructions. 2. Na ktidle #2 odstranime potahovou folii

z otvord pro serva
Remove facing foil from holes for servos on the
wing #2. ...

..z otvoru pro upeviovaci kolik
from hole for fixing pin

3. ...z otvordl pro $rouby
...from holes for screws

5. ...a z otvoru pro kabel serva 6. ...ina uchu
.. and from hole for servo cable .. on wing tips too.

9. 10. Namichame si 5 minutovy epoxi
Combine 5-min glue EPOXI.

13. Hotovo
Ready.

14. Do otvoru pro aretacni kolik #2-21, ve
vnéjsi Casti kridla naneseme lepidlo

Put glue to hole for fixing pin #2-21 on outer part
of the wing.

7. Okraje otvord zaZehlime... 8.
Iron borders of the holes ...

11. Potfebné mnozstvi lepidla naneseme do 12. Kolik vsuneme do otvoru
otvoru pro upevnovaci kolik #2-25, ve Push fixing pin to hole.

stfedni Casti kfidla

Put required amound of the glue to hole for fixing

pin #2-25 on central part of the wing.

15. ... a vsuneme kolik # 2-21
.. and push fixing pin #2-21.

16. Pomoci kvalitni pasky prilepime klapku
#2-11 ke stfedni Casti kridla #2...

Glue flap #2-11 on central part of the wing #2,
use quality adhesive tape ...

7. ...také druhou klapku
.. second flap too. také druhou stranu, presahujici okraje
odfizneme

Turn flap and glue other side, cut exceed parts

of the adhesive tape.

21. K¥idélko "pfehneme" a paskou 22. ..

.odfizneme okraje
prelepime také druhou stranu... .. cut exceed parts of the adhesive tape.
Turn aileron and glue other side, use adhesive

tape ...

18. Klapku "pfehneme" a paskou prelepime 19. Paskou prilepime kFidélko #2-1 k

0. ...pfesahujici ¢ast odfizneme
vnéjsi ¢asti kfidla... .. cut exceed parts of the adhesive tape.
Glue aileron #2-1 on outer part of the wing, use

adhesive tape ...

23. Stejnym zplisobem pfilepime kFidélko i
na druhém "uchu"

Glue aileron on second wing tip too, use same
technique.



24.PFipravime si krouceny kabel k prodlouzeni
servokabeld
Prepare twisted cable for servo cables extension.

28. ...véechny konce kabel{ odizolujeme a
pocinujeme
... cut insulate and solder all end of the cables.

32. PFipravime si kus dratu @0.8 - imm, a na
konci jej ohneme

Prepare piece of the wire g 0.8 - 1 mm, bend one end

of the wire.

36. Kfidlo s protazenymi kabely
Wing with inserted cables.

39. Na vystupujici kabely pripajime konektory
("MULTIPLEX"-6 kolik{)

Solder connectors (MULTIPLEX 6-pin) on the stand
out cables.

42. Pomoci dratu kabel protdhneme k¥idlem...
Pass cable through wing, use bend wire ...

4

25. Pro serva klapek ve stfedu kfidla ustfihneme 26

370mm - 2ks

pro serva kfidélek 780mm - 2ks...

Cut 2 pc. 370mm cables for flap servos, 2 pc. 780mm
cables for aileron servos ...

29. Pripravime si kousky buzirky dloué cca
12mm

Prepare piece of the insulating tubes about 12mm
length.

33. Drat vsuneme ohnutou ¢asti do kFidla,
zachytime jim kabel...
Insert bend side of the wire to wing and grip cable ...

37. Ke kabelu pfipajime kabel serva klapek
(nezapomeneme na buzirku), povrch folie
chranime proti propaleni

Sollder flap servo cable (do not forgot put tubes on the
cables), you must protect surface of the foil before
burn-out.

40. Rozplilime, odizolujeme a pocinujeme kabel
serv kridélek...

Halve servo cable for ailerons, cut insulate and solder
wires ...

idélka 200mm - 2ks
... 2 pc. 200mm for aileron.

30. Kabely patfici do stfedu kfidla pripajime k
jednotlivym kontakttm konektoru "CANON" 15
pin.(nezapomeneme na kabely nevléci buzirku)
Solder cables for central part of the wing to individual
contacts on CANNON-15 connector.

(Do not forgot put tubes on the cables) _

34. ...protahneme kabel kFidélek...
... pass aileron cables through wing ...

37.1druhé servo
And second servo too.

41. ...pfipdjime prodluzovaci kabel
(nezapomeneme na buzirku)...
... solder extension cable (do not forgot put tubes) ...

43. ... sesadime konektory a pfipdjime kabel...
... assembly connectors and solder cable ...

27. Rozplilime servokabely...
Halve servo cables ...

31. Buzirku "smrstime"
tepla
Shring tubes, use appropriate heat source.

35. ...a klapek
... and flaps too.

38. Smrstime buzirku
Shring tubes.

42. ... a smrstime buzirku
... and shring tubes.

44. ...smrstime buZirku
schring tubes.




45, V pakdch serv prevrtame otvory na @ 1,7 - 46. 47. Spravna poloha paky serva v neutralu - plati 48. Paku serva nasadime a pfisroubujeme

1,8mm pro servo klapek Fit and screw servo arm on the servo.
Drill holes @1,7 - 1,8 mm on the servo arm. Correct position of the servo arm in centre - apply to
flaps servo.

49. Na patky serva nasuneme drzéka serva # 50. ...vyzkousime montaz serva do Sachty v 51. ...na sty¢né plochy drzak{ naneseme 5 min.  52. ...a celek vlepime do kFidla (paka je otoCena

2-4... kridle... epoxi... k odtokovce)

Put servo holders #2-4 on the servo base ... ... test assembly servo to the hole on wing ... ... put glue (5-min EPOXI) to montage surface of the ... glue whole servo to wing (arm is turned to trailing
holders ... edge).

53. Stejnym zplisobem nainstalujeme i druhé 54. 55. Spravna poloha paky serv kfidélek 56. Nasadime paku a pFiSroubujeme ji
servo klapek Correct position arm of the aileron servo. Fit and screw servo arm on the servo.
Install second flap servo, use same method.

57. Na patky serva nasadime drzaky serva# 58. ...vyzkousime montaz do Sachty... 59. ...naneseme lepidlo a zalepime 60. Stejnym zplisobem nainstalujeme i druhé
2-4... ... test assembly servo to the hole ... ... put glue and montage whole servo. servo kfidélek
Put servo holders #2-4 on the servo base ... Install second aileron servo, use same method.

._ﬁ‘.ll

61. Obé serva kFidélek viepena do k¥idla 62. Pomoci zahusténého 5 min. epoxi vlepime 63. ...zajistime kouskem lepici pasky (pouzijeme 64. ...v pasce vyfizneme otvor pro protikus
Both aileron servos assembled in the wing. konektor do vnéjsi Casti kridla... takovy kus, aby pozdé&ji zabranil slepeni kfidla) ~ konektoru...
Glue connector to the outer side of the wing, use ... fix it by stick of the adhesive tape (length of the tape ... cut hole in the tape for complemented connector ...
thicken 5-min EPOXI ... must avoid from wing attach later)

65. ...sesadime kfidlo a konektor ... 66. ...do dutiny naneseme zahustény epoxi 67. ...dily dotlacime a nechdme zaschnout 68. Stejnym zplisobem zalepime konektor na
... assembly wing and connector ... (dame pozor na preteceni lepidla a slepeni ... press both parts together and leave to drying. druhé strané
celého kfidla)... Glue connector on opposite side, use same method.

... put thick epoxi to the hollow (be sure to glue
overflow and attach both parts of the wing) ... 5



69. Na klapce #2-11 si oznacima polohu 69. ...vyfrézujeme drazku... 70. ...naneseme lepidlo... 71. ...vsuneme paku a odméfime si jeji
paky#2-8... ... shape slot forarm ... ... put glue to the slot ... polohu
Mark arm #2-8 position on the flap #2-11 ... ... insert arm and measure its position ...

72. Predchzi operace opakujeme i s pakou 73. Predchozi operace zopakujeme i u
druhé klapky (snazime se dodrzet stejnou kFidélek #2-1

polohu) Repeat previouse steps for ailerons #2-1 too.
Repeat previouse steps for second flap arm (try
fixed same position of the arm).

79. Pripojime serva k pfijimaci, zapneme
vysila¢ - ovladac klapek v poloze - bez
vychylky, i pfijimac

Connect servos to receiver, power on receiver
and transmitter - flap stick in central position.

80. Koncovku tédhla #2-6 nasadime do 81. ...na tahlu #2-5 vytvofime "Z" ohyb... 82. ...pfebytecnou ¢ast tahla odstranime a 83. zahnuty konec tahla vsuneme do paky

otvoru v pace a oznacime si délku tahla... ... form curve ,Z" on the pushrod #2-5 ... konec zacistime... serva, pripojime k pace #2-8, popr.
Fit pushrod ending #2-6 on to arm hole and mark ... remove spare part of the pushrod and polish pravime délku tahla...
length of the pushrod ... end ... ... insert bented end of the pushrod into servo

arm, connect it with arm #2-8, adjust length of the
pushrod .

84. Kfidlo s osazenymi servy a sefizenymi 85. Predchozi operace opakujeme i s tahly 86. 87.

tahly ke klapkam kFidélek
... wing with mounted servos and adjusted flap Repeat before steps for aileron pushrods.
pushrods.

91. Hotovo
Ready.



93. Viystfihneme krytky serv #2-41... 64. ... nalepime na né obostrannou lepici 65. ...odstranime kryci vrstvu... 66. ...a krytka nalepime na pfislusné misto
Cut cover of the servos #2-41 ... pasku... ... remove masking tape ... ... glue cover onto correct place.
... place both side adhesive tape on the cover ...

68. Vystiihame a nalepime obtisky
Cut and glue transfer pictures.

74. Na trupu si naméfime polohu Sroubu #6-1 (v
ose trupu)
Measure position of the screw #6-1 (in fuselage axe) ...

", i+
75. ...vyvrtdme otvor @2,2mm... 76. ... zasroubujeme vrut #6-1 77. Na vnitfni strané kabiny #6 si naméfime 78. ...a vzdalenost Sroubu#6-1...
... drillhole g 2.2 mm ... ... screw on wood srew #6-1. stred... ... and screw #6-1 distance ...

Measure central point on inside part of the cockpit #6

79. ...vyvrtame otvor @3mm ... 80. ...zhotovime drazku... 81. 82. ...kabinu #6 nasunemme na trup...
... drillhole g 3 mm ... ... shape slot ... ... insert cockpit #6 onto fuselage ...

" —_ : I
83. ...zasroubovani / vySroubovanim vrutu#6-1  84. Na trupu si naznacime osu otvoru pro kolik  85. ...vysku otvoru si odméfime na kfidle... 86. ...vyvrtame otvor @6mm ( je vhodné si jej
doladime zajisténi kabiny na trupu kridla #2-25... ... hole distance you can measured on wing ... nejdrive predvrtat vrtdkem mensiho @)
... adjust loock of the cockpit by screw on/screw off Mark hole axe for wing pin #2-25 on the fuselage ... ... drill hole @ 6 mm (we recommend drill smaller hole

wood screw #6-1. first).

7



[

87. V kylovce vyfrézujeme otvor pro servo 88. ...otvor zacistime 89. Vrtakem @3,1mm pFevrtdme otvor pro pro 90. Zhotovime drazku pro ovladani vyskovky
vyskovky... .... finish hole. Cep paky#3-81 Shape slot for elevator controler.
Shape hole for elevator servo in the fin ... Drill hole ¢ 3.1 mm for arm pin #3-81.

92. Nakreslime si otvory pro vystup chladiciho 93. ...a vybrousime je 94. I na druhé strané trupu
vzduchu... ...and cut it. Make it on opposite side of the fuselage too.
draw output slot for cooling air.

96. Do trupu, v misté, kde budou matice kfidla ~ 97. ... vsuneme podlozku matic #2-31... 98. ...a zajistime ji
#2-3, naneseme zahustény 30 min. epoxi... ... insert rest for nut #2-31 ... ... and fix it.
Put thicken 30-min EPOXI to place for wing nut #2-3.

99. Na trup nasadime k¥idlo a ustavime je do 100. ...vzdalenosti musi byt stejné! 101. Vyvrtdme otvory @4,9mm... 102. ...otvory pfevrtdme na @6,2mm, dbdme na
spravné polohy... ... distances must be same! Drill holes ¢ 4.9 mm ... dodrzen{ sméru vrtani a souososti obou otvord...
Insert wing onto fuselage and adjust to the correct ... redrill holes @ 6.2 mm, be sure correct orientation
position ... and collinearity for both holes ...

103. ...vtla¢ime matice #2-3... 104. ...a zalepime je 105. V motorové prepazce #1-1 vyvrtame 106. Motorovou prepazku #1-1 navlékneme na
... stuff nuts #2-3 ... ...and glue it. otvory podle pouzitého motoru a zahloubime je  vhodnou kulatinu a vsuneme ji do trupu...

Drill holes on motor wicket #1-1 according to applied Insert motor wicket #1-1 to the fuselage, use

motor and sink holes. appropriate round pole ...

107. ...zkontolujeme jeji polohu, popF. vnitfek 108. ...naneseme lepidlo... 109. ...pfepazku vlepime do trupu... 110. ...pojistime lepidlem i z vnéjsi strany
trupu zabrousime... ... put glue on the surface ... ... glue wicket to the fuselage ... ... fix it by glue from outside.

... test position of the motor wicket, finish fuselage

inside when requirement ...

8



111. Pfipravime si kabel pro servo vyskovky... 112. ...odstfihneme ~920mm... 113. ...rozpllime kabel serva... 114. ...pfipravime si buzirku...
Prepare cable for elevator servo ... ... cut stick ~ 920 mm ... ... halve servo cable ... ... prepare issulate tubes ...

115. ...kabely odizolujeme a pocinujeme... 116. ...navlékneme buZirky a vse spajime... 117. ...bufirky smrstime 118. Z dild #3-5 a #3-6 sestavime tahlo
... cut insulate and solder end of the cable ... ... insert tubes and solder together ... ... schring tubes. vyskovky

Assembly pushrod, use parts #3-5 and #3-6.

119. Téhlo pfipojime k pace vyskovky #3-8 120. Otvor v péce serva pfevrtame na @2mm...  121. ...do otvoru vsuneme dik Cepu... 122. ...a zasroubujeme
Connect pushrod to elevator arm #3-8. Drill servo arm hole g 2 mm ... ... insert shank of the stopper ... ... SCrew servo arm.

123. Paku #3-8 vsuneme otvorem pro servo do  124. ...vsuneme ¢ep paky #3-81, odzkousime 125. ...¢ep zajistime kapkou lepidla (z obu stran) 126. Do druhého otvoru v pace #3—8 vsuneme

kylovky, vystiedime s otvorem @3,1mm... pohyblivost paky, popt. ji upravime... ... fix stopper with glue drop (on both sides). tep ndhonu #3-82...
Insert arm #3-8 through servo hole to the fin, adjust ... insert arm stopper #3-81, test mobility of the arm, Insert drive stopper #3-82 to the second hole of the
arm axe to centre of hole ¢ 3.1 mm ... adjust it when required ... arm#3-8 ...

127. ...na kazdé strané by méla vy¢nivat stejnda  128. Na patka serva natlacime drzaky #1-21, v 129. Kabel serva vyskovky vsuneme do trupu...  130. ...do otvoru vsuneme srva a pfipojime paku

Cast misté kabelu a paky serva ¢ast odfizneme Inser elevator servo cable to the fuselage ... vyskovky (popf. Sroubovanim upravime délku)...

... same distance must stand out from both sides. Insert holders #1-21 on servo base, cut space in the ... insert servos to the hole and connect elevator arm
holders for cable and servo arm. (adjust length by screw when required) ...

——
— — i
131. Zapojime servo do pfijimace, vée zapneme 132. ...servo ustavime, tak aby nahon vyskovky 133. Hotovo 134. Po odzkouseni funkce a sefizeni otvor
(v neutralu)... byl v neutralu, a servo zalepime Ready. prelepime samolepkou
... connect servo to receiver, power on all devices (in ... adjust servo, elevator drive must be in central Cover hole with adhesive tape after functional testing
central position) ... position, glue servo to the fin. and adjusting.

9



bl L B :_"'7'. - X v
135. K vodi¢lim reguldtoru pripajime konektory.. 136. ...opatfime je izolaci... 137. ...reguldtor pfipojime k motoru... 138. ...celek vsuneme do trupu...
Solder connectors to the speed controller wires ... ... insert issulate tubes ... ... connect controller with motor ... ... insert motor unit to the fuselage ...

142, Pred dalsim pokracovanim prace je vhodné
cely model sestavit, rozmistnit v ném zbyvajici
vybaveni, pokud mozno, tak aby jsme timto
vybavenim model vyvazili. Nalezené polohy
vybaveni si oznac¢ime

- L L | Is suitable assemble all airplane, insert remain
139. ...a pfisroubujeme... 140. ...sestavime vrtulovy komplet... 141. ...celek namontujeme na motor equipments such for balanced. Mark find position of
... and screw motor ... ... assembly prop set ... ... mount prop set to the motor shaft. the all equipments.

L
Y

143. Na oznecené misto v trupu vsuneme desku  144. ...ustavime ji... 145. ...polohu si oznacime... 146. ...naneseme lepidlo...
serva SOP #1-2 (popf. ji upravime)... ... adjustit ... ... mark precise position ... ... put glue on surface ...
Insert plate for rudder servo #1-2 on mark position in

the fuselage (cut it vhen required) ...

147. ... desku vlepime do trupu... 148. ...lehce pretfeme lepidlem 149. Zkomletujeme servo... 150. ...paku prisroubujeme ve stfedové poloze
... glue servo plate to the fuselage ... ... coate fine glue film. Assembly servo ... ... screw arm to the central position.

151. Servo vlozime do trupu... 152. ...a pfisroubujeme 154. Podle polohy serva a délky koncovky +

Insert servo to the fuselage ... ... and srew it. Assembly clevis set #4-6 of the pushrod. rezerva pro pohyb, zkratime vedeni téhla
Reduce length of the pushrod pipe according to servo
position, anding and space for movement.

155. V klapce smérovky vyvrtame otvor 33,2, 156. ...naneseme do néj lepidlo... 157. ...a vsuneme paku 158. Do "vedeni" tahla vsuneme tahlo #4-5...
pro paku #4-8... ... put glue to the hole ... ... insert arm. Insert pushrod #4-5 to the linkage ...

V klapce smérovky vyvrtdme otvor g 3.2 mm, pro paku

#4-8 ...

10



®

175. Tahlo povytdhneme ze smérovky a 176. ...tdhlo vsuneme do paky #4-8... 177. ...paku vytahneme, naneseme 178. ...a paku zalepime
ohneme o cca 100°... ... insert pushrod to the arm #4-8 ... lepidlo... ... and glue arm.

Take out pushrod from rudder and bend it about ... take out arm, put glue ...

100° ...

179. Zapneme vysilaé, pfijimac a pfipojime  180. ...k pace serva pfipojime koncovku 181. ...zalepime vedeni tahla 182. Do trupu vlepime prepazku #1-71...

servo smérovky... #4-6, navlékneme tahlo (popf. upravime ... glue pushrod linkage. Glue wicket #1-71 to the fuselage ...
Connect rudder servo, power on transmitter and jeho délku) a celek zapajime...
receiver ... ... mount clevis set #4-6 to the servo arm, insert

pushrod (reduce length when required) and
solder pushrod unit ...

&

183. ...a drzak akumulatord 184. K upevnéni akumulatorl pouzijeme 185. 186. Model sestavime a vyvazime
... and battery holder. napf. suchy zip Assembly airplane and balanced it.
Use dry zipper as battery holder for example.

, 100 - 105mm

This is recommended centre of gravity.

188. Vychylka klapek nahoru = 3mm... 189. ...dold = 40 - 50mm 190. Kfidélka dold = 10 - 15mm... 191. ... nahoru = 18 - 24mm
Flaps deviation up =3 mm ... ... down =40 - 50 mm. Ailerons down = 10 - 15 mm ... ... up =18 -24 mm.

192. Vy&kovka nahoru = 11 - 15mm... 193. ...dol@ = 11 - 15mm 194, Smérovka = 33 - 37mm...
Elevatorup=11-15mm... ...down =11 -15mm. Rudder = 33 - 37 mm ...

11



